

FUNCTIONAL CHARACTERIZATION OF A SHARPENING OF THE TRIANGLE INEQUALITY

WŁODZIMIERZ FECHNER

(Communicated by L. Maligranda)

Abstract. Motivated by recent refinements of the classical triangle inequality in normed spaces proved by Lech Maligranda we deal with related functional equation and inequality and with the corresponding stability problem.

1. Introduction

Alfred Tarski in [11] posed as a question (or an exercise) and then proved the following identity for real numbers x, y :

$$||x| - |y|| = |x + y| + |x - y| - |x| - |y|. \quad (1)$$

One may check that this equality fails to hold in a higher dimension. Recently, Lech Maligranda in [9] presented the following multi-dimensional analogue of identity (1):

$$| \|x\| - \|y\| | \leq \|x + y\| + \|x - y\| - \|x\| - \|y\| \leq \min\{\|x + y\|, \|x - y\|\} \quad (2)$$

for any elements x, y from an arbitrary normed space. Clearly, (2) strengthen both inequalities

$$| \|x\| - \|y\| | \leq \|x - y\|$$

and

$$\|x + y\| \leq \|x\| + \|y\|.$$

Some interesting related estimations were obtained by Lech Maligranda in [8].

Motivated by foregoing results we discuss the following problems:

A) the functional inequality:

$$|f(x) - f(y)| \leq f(x + y) + f(x - y) - f(x) - f(y) \leq \min\{f(x + y), f(x - y)\}; \quad (3)$$

B) the functional equation:

$$|f(x) - f(y)| = f(x + y) + f(x - y) - f(x) - f(y); \quad (4)$$

Mathematics subject classification (2010): 39B62, 39B82, 46B20, 46B99.

Keywords and phrases: norm inequality, triangle inequality, functional equation, functional inequality, Hyers-Ulam stability.

C) stability of functional equation (4):

$$| |F(x) - F(y)| - F(x+y) - F(x-y) + F(x) + F(y) | \leq \varepsilon (\|x\|^p + \|y\|^p). \quad (5)$$

It is clear that the mapping $\mathbb{R} \ni x \mapsto |x| \in \mathbb{R}$ satisfies (3), (4) and (5) and for every normed space $(X, \|\cdot\|)$ the mapping $X \ni x \mapsto \|x\| \in \mathbb{R}$ satisfies (3). Our purpose is to determine all solutions of these problems under some reasonable assumptions.

2. Results

We begin with solving (3) for mappings acting on Abelian groups with the aid of the following theorem from paper [6] of Roman Ger, which is a generalization of a result obtained earlier by Edgar Berz [3].

THEOREM A. *Assume that $(G, +)$ is an Abelian group and $p: G \rightarrow \mathbb{R}$ has the following properties:*

- (p1) $p(x+y) \leq p(x) + p(y)$ for each $x, y \in G$;
- (p2) $p(2x) = 2p(x)$ for each $x \in G$;
- (p3) p is even.

Then there exist a normed space X and an additive mapping $A: G \rightarrow X$ such that

$$p(x) = \|A(x)\|, \quad x \in G.$$

Moreover, the space X may be taken as the space $B(T, \mathbb{R})$ of all bounded functions on T with the supremum norm, where T is the set of all additive real functionals on G majorized by p , the mapping A is defined by

$$A(x)(a) := a(x), \quad a \in T, x \in G$$

and for each $x \in G$ the supremum

$$\|A(x)\| = \sup\{|a(x)| : a \text{ is additive and } a \leq p\}$$

is realized by some additive mapping a_x , i.e. $\|A(x)\| = |a_x(x)|$.

THEOREM 1. *Assume that $(G, +)$ is an Abelian group and $f: G \rightarrow \mathbb{R}$ is an arbitrary mapping such that $f(0) = 0$. Then f is a solution of (3) if and only if there exist a normed space $(X, \|\cdot\|)$ and an additive mapping $A: G \rightarrow X$ such that*

$$f(x) = \|A(x)\|, \quad x \in G.$$

Proof. The “only if” part follows easily from inequality (2). We will prove the “if” part.

Substitute $y = x$ in (3) to obtain

$$0 \leq f(2x) - 2f(x) \leq \min\{f(2x), f(0)\} \leq 0, \quad x \in G.$$

Thus $f(2x) = 2f(x)$ for each $x \in G$.

In the remaining part of the proof we will be using the first inequality from (3) only. Put $x = 0$ in (3). We get $|f(y)| \leq f(-y)$ for each $y \in G$, which applied twice leads to

$$|f(y)| \leq f(-y) \leq |f(-y)| \leq f(y) \leq |f(y)|, \quad x \in G.$$

Since we have obtained equality, then each estimation holds with equality. In particular, f is even.

Clearly, (3) implies that

$$f(x) - f(y) \leq f(x+y) + f(x-y) - f(x) - f(y), \quad x, y \in G,$$

i.e.

$$2f(x) \leq f(x+y) + f(x-y), \quad x, y \in G.$$

From this, after replacing x by $x+y$ and y by $x-y$, we deduce the inequality

$$2f(x+y) \leq f(2x) + f(2y), \quad x, y \in G,$$

which, jointly with the already proved 2-homogeneity of f , means that f is subadditive.

We have shown that f satisfies all the assumptions of Theorem A. Therefore f is of the form $f(x) = \|A(x)\|$, where $A: G \rightarrow X$ is an additive mapping and X is a normed space. \square

Now, applying the foregoing theorem we deduce the form of solutions of equation (4). We will show that in this case the space X can be replaced by \mathbb{R} .

THEOREM 2. *Assume that $(G, +)$ is an Abelian group and $f: G \rightarrow \mathbb{R}$ is an arbitrary mapping. Then f is a solution of (4) if and only if there exist an additive mapping $A: G \rightarrow \mathbb{R}$ and a constant $c \in \mathbb{R}$ such that*

$$f(x) = |A(x)| + c, \quad x \in G.$$

Proof. Again, the “only if” part follows from equality (1). Therefore, we will confess ourselves to the “if” part.

We may assume that $f(0) = 0$. Substitution $y = x$ in (4) leads to

$$0 = f(2x) - 2f(x), \quad x \in G,$$

i.e. $f(2x) = 2f(x)$ for each $x \in G$.

Next part of the proof is a repetition of the later part of the proof of the previous theorem. We get the representation of f as the norm of an additive mapping having values in a normed space X .

It remains to prove that X may be replaced by \mathbb{R} . We will deduce that the image $A(G) \subset X$ is contained in a one-dimensional subspace. For arbitrarily fixed $x, y \in G$ let us denote $\xi = A(x)$, $\eta = A(y)$. We may assume that $\|\xi\| \geq \|\eta\|$. From the form of f and from equation (4) we get

$$\|\xi\| - \|\eta\| = \|\xi + \eta\| + \|\xi - \eta\| - \|\xi\| - \|\eta\|,$$

i.e.

$$2\|\xi\| = \|\xi + \eta\| + \|\xi - \eta\|,$$

which can be equivalently written as

$$\|(\xi + \eta) + (\xi - \eta)\| = \|\xi + \eta\| + \|\xi - \eta\|.$$

In other words, we have shown that for each $s, t \in G$ either

$$\|A(s) + A(t)\| = \|A(s)\| + \|A(t)\| \quad (6)$$

or

$$\|A(s) - A(t)\| = \|A(s)\| + \|A(t)\| \quad (7)$$

(we used the fact that the set $A(G)$ forms a subgroup of X). On the other hand, by Theorem A for each $x \in G$ we have

$$\|A(x)\| = \sup\{|a(x)| : a \text{ is additive and } a \leq f\}$$

and there exists an additive mapping $a_x \leq f$ such that $|a_x(x)| = \|A(x)\|$. From (6) and (7) we will deduce that for arbitrary $s, t \in G$ the supremum is realized by the same additive mapping. Indeed, if for instance (6) holds then

$$|a_{s+t}(s+t)| = |a_s(s)| + |a_t(t)|,$$

where a_s , a_t and a_{s+t} are additive mappings which realize the respective suprema. Clearly, $|a_{s+t}(s)| \leq |a_s(s)|$ and $|a_{s+t}(t)| \leq |a_t(t)|$. On joining this with the above equality we obtain

$$\begin{aligned} |a_s(s)| + |a_t(t)| &= |a_{s+t}(s+t)| \leq |a_{s+t}(s)| + |a_{s+t}(t)| \leq \\ &\leq |a_s(s)| + |a_t(t)|. \end{aligned}$$

This proves that $|a_{s+t}(s)| = |a_s(s)|$ and $|a_{s+t}(t)| = |a_t(t)|$, which means that a_{s+t} realizes suprema for s and t . Therefore, we may find an additive mapping $a^* : G \rightarrow \mathbb{R}$ such that for each $x \in G$ the following equality is valid:

$$\sup\{|a(x)| : a \text{ is additive and } a \leq f\} = |a^*(x)|.$$

Therefore, we may replace A by a^* and thus the space X can be replaced by \mathbb{R} . \square

I am thankful to professor Peter Volkmann for an observation that functional equation (4) for mapping f vanishing at zero can be transformed equivalently to the following equation:

$$\max\{f(x+y), f(x-y)\} = f(x) + f(y),$$

which was first discussed by Alice Chaljub-Simon and Peter Volkmann in [4]. To show that this equation and (4) are equivalent it suffices to make use of the fact that $f(2x) = 2f(x)$ is true for both equations and then apply the identity

$$2 \max\{s, t\} = s + t + |s - t|$$

for $s, t \in \mathbb{R}$. However, the method we use to solve (4) is quite different from the method used in [4].

Now, let us discuss the stability of equation (4). The stability problem (5) corresponding to this equation is called the Hyers-Ulam-Aoki stability problem (terminology is in accordance with a recent survey paper [10] of Lech Maligranda). We will show that each solution F of inequality (5) is in a sense close to a unique solution f of equation (4), which has been already solved in Theorem 2. We apply a standard technique known as the direct method or the Hyers method, which is discussed in [10]. Therefore, we provide only a sketch of the proof.

THEOREM 3. *Assume that $(X, \|\cdot\|)$ is a normed space, $\varepsilon \geq 0$ and $p \in \mathbb{R}$ is a real number such that $p \neq 1$. If $F: X \rightarrow \mathbb{R}$ satisfies (5) (for each $x, y \in X$ or each $x, y \in X \setminus \{0\}$ if $p < 0$) then there exists a unique mapping $f: X \rightarrow \mathbb{R}$ such that f is a solution of (4) and: if $p > 1$ then*

$$|F(x) - f(x)| \leq \frac{2\varepsilon}{2^p - 2} \cdot \|x\|^p, \quad x \in X \tag{8}$$

or if $p < 1$ then

$$|F(x) - f(x)| \leq \frac{2\varepsilon}{2 - 2^p} \cdot \|x\|^p, \quad x \in X. \tag{9}$$

Proof. The proof differs slightly from the proof of the analogous result for the Cauchy functional equation, which is due to Donald H. Hyers [7] and Tosio Aoki [2]. We need to observe that if F satisfies (5) then $F - F(0)$ satisfies it, too. Further, if $F(0) = 0$ then substitution $y = x$ in (5) leads to the estimation

$$|F(x) - \frac{1}{2}F(2x)| \leq \varepsilon \|x\|^p, \quad x \in X.$$

From this, by some elementary calculations, we derive that if $p < 1$ then the sequence $2^{-n}F(2^n x)$ is pointwise convergent and if $p > 1$ then the sequence $2^n F(2^{-n}x)$ is pointwise convergent. Further, a standard reasoning (which relies on replacing arguments x and y in (5) by $2^n x$ and $2^n y$, multiplying (5) side by side by 2^{-n} and tending with n to $-\infty$ or $+\infty$ respectively) allow us to prove that the limit function f of both sequences satisfies (4) and, after replacing f by $f + F(0)$, the desired estimation (8) or (9) respectively, holds true.

It remains to show the uniqueness of solution. If f and f' are two solutions of (4) and both satisfy one of estimations (8) or (9) then by adding them side by side we get

$$|f(x) - f'(x)| \leq \frac{4\varepsilon}{2^p - 2} \cdot \|x\|^p, \quad x \in X$$

if $p > 1$ or

$$|f(x) - f'(x)| \leq \frac{4\varepsilon}{2 - 2^p} \cdot \|x\|^p, \quad x \in X$$

if $p < 1$. Now, fix $n \in \mathbb{N}$ arbitrarily. In the first case replace x by $2^{-n}x$ and multiply the estimation side by side by 2^n and in the second case replace x by $2^n x$ and divide it

side by side by 2^n . In both resulting inequalities the left hand side remains unchanged (by the 2-homogeneity of solutions of (4)) whereas the right hand side will always tend to zero as n tends to infinity. Therefore, necessarily $f = f'$, which we wanted to show. \square

As a straightforward corollary we get that equation (4) is stable in a sense of Hyers-Ulam (case $p = 0$ in the previous theorem). It is worth to note that in case $p = 0$ the structure of normed space in the domain is not really needed in its full strength. An inspection of the proof allows us to state the following corollary.

COROLLARY 4. *Assume that $(G, +)$ is an Abelian group and $\varepsilon \geq 0$. If $F: G \rightarrow \mathbb{R}$ satisfies*

$$||F(x) - F(y)| - F(x+y) - F(x-y) + F(x) + F(y)| \leq \varepsilon$$

for each $x, y \in G$ then there exists a unique mapping $f: G \rightarrow \mathbb{R}$ such that f is a solution of (4) and

$$|F(x) - f(x)| \leq \varepsilon, \quad x \in G.$$

An example due to Zbigniew Gajda [5] shows that the Cauchy functional equation is not stable for the “critical case” $p = 1$. In what follows we provide a modification of this example in order to show that the stability effect for (5) fails if $p = 1$.

EXAMPLE 5. Fix arbitrary $\varepsilon > 0$ and put $\mu := \frac{1}{12}\varepsilon$. Next, define a mapping $\phi: \mathbb{R} \rightarrow \mathbb{R}$ by

$$\phi(x) = \begin{cases} \mu & \text{if } x \geq 1, \\ \mu x & \text{if } 0 \leq x < 1, \\ -\mu x & \text{if } -1 \leq x < 0, \\ \mu & \text{if } x \leq -1, \end{cases}$$

Observe that a mapping $F: \mathbb{R} \rightarrow \mathbb{R}$ is well defined by

$$F(x) := \sum_{n=0}^{\infty} \frac{\phi(2^n x)}{2^n}, \quad x \in \mathbb{R}.$$

Moreover, F , as a sum of an uniformly convergent series of continuous mappings, is continuous. Further, for each $x \in \mathbb{R}$ we have

$$0 \leq F(x) \leq \sum_{n=0}^{\infty} \frac{\mu}{2^n} = 2\mu. \quad (10)$$

Now, we will check that (5) is satisfied with $p = 1$. Obviously, (5) is true for $x = y = 0$. Let us assume that $0 < |x| + |y| < 1$. Take N as a nonnegative integer for which we have

$$\frac{1}{2^N} \leq |x| + |y| \leq \frac{1}{2^{N-1}}.$$

From this we easily deduce that each of the values

$$2^n x, 2^n y, 2^n(x+y), 2^n(x-y)$$

belong to the open interval $(-1, 1)$ for each $n = 0, 1, \dots, N - 1$. Consequently, by the definition of ϕ we have

$$|\phi(2^n x) - \phi(2^n y)| - \phi(2^n(x+y)) - \phi(2^n(x-y)) + \phi(2^n x) + \phi(2^n y) = 0$$

for each $n = 0, 1, \dots, N - 1$. Now, we may calculate that the expected estimation is valid:

$$\begin{aligned} & \frac{|F(x) - F(y)| - F(x+y) - F(x-y) + F(x) + F(y)}{|x| + |y|} \\ & \leq \sum_{n=N}^{\infty} \frac{|\phi(2^n x) - \phi(2^n y)| - \phi(2^n(x+y)) - \phi(2^n(x-y)) + \phi(2^n x) + \phi(2^n y)}{2^n(|x| + |y|)} \\ & \leq \sum_{k=0}^{\infty} \frac{6\mu}{2^{k+N}(|x| + |y|)} \leq \varepsilon. \end{aligned}$$

If $|x| + |y| \geq 1$ then from (10) we immediately get that

$$|F(x) - F(y)| - F(x+y) - F(x-y) + F(x) + F(y) \leq 12\mu = \varepsilon \leq \varepsilon(|x| + |y|).$$

Therefore, (5) is satisfied by F with $p = 1$ for each $x, y \in \mathbb{R}$.

Now, we will show that there is no solution f of (4) which is close to F in a sense that there exists a constant $\delta > 0$ such that

$$|F(x) - f(x)| \leq \delta|x|, \quad x \in \mathbb{R}. \tag{11}$$

Assume for a contrary that such a map exists. From Theorem 2 there exists an additive mapping $A: \mathbb{R} \rightarrow \mathbb{R}$ such that

$$f(x) = |A(x)|, \quad x \in \mathbb{R}.$$

Since F is bounded then (11) forces that A is continuous (see e.g. Janos Aczél [1, Chapter 2.1.1., Theorem 1]) which means that f is of the form

$$f(x) = c|x|, \quad x \in \mathbb{R}$$

with a certain constant $c \geq 0$. Therefore,

$$|F(x) - c|x|| \leq \delta|x|, \quad x \in \mathbb{R},$$

i.e.

$$\left| \frac{F(x)}{x} \right| \leq \delta + c, \quad x \in \mathbb{R}.$$

Next, take $N := \lceil \frac{\delta+c}{\mu} \rceil + 1$ and $x \in (0, \frac{1}{2^{N-1}})$. We have

$$\frac{F(x)}{x} = \sum_{n=0}^{\infty} \frac{\phi(2^n x)}{2^n x} \geq \sum_{n=0}^{N-1} \frac{\phi(2^n x)}{2^n x} \geq \sum_{n=0}^{N-1} \frac{\mu \cdot 2^n x}{2^n x} = N\mu > \delta + c,$$

which is a contradiction. Therefore, for $p = 1$ we cannot expect the stability effect for equation (4).

REFERENCES

- [1] J. ACZÉL, *Lectures on functional equations and their applications*, Academic Press, New York-San Francisco-London, 1966.
- [2] T. AOKI, *On the stability of the linear transformation in Banach spaces*, J. Math. Soc. Japan, **2** (1950), 64–66.
- [3] E. BERZ, *Sublinear functions on \mathbf{R}* , Aequationes Math., **12**, 2-3 (1975), 200–206.
- [4] A. CHALJUB-SIMON, P. VOLKMANN, *Caractérisation du module d'une fonction additive à l'aide d'une équation fonctionnelle*, Aequationes Math., **47**, 1 (1994), 60–68.
- [5] Z. GAJDA, *On stability of additive mappings*, Internat. J. Math. Sci., **14**, 3(1991), 431–434.
- [6] R. GER, *Fischer-Muszély additivity on Abelian groups*, Comment. Math. Prace Mat. (2004) Tomus Specialis in honorem Juliani Musielak, 82–96.
- [7] D. H. HYERS, *On the stability of the linear functional equation*, Proc. Nat. Acad. Sci. U. S. A., **27** (1941), 222–224.
- [8] L. MALIGRANDA, *Simple norm inequalities*, Amer. Math. Monthly, **113** (2006), 256–260.
- [9] L. MALIGRANDA, *Some remarks of the triangle inequality for norms*, Banach J. Math. Anal., **2**, 2 (2008), 31–41.
- [10] L. MALIGRANDA, *A result of Tosio Aoki about a generalization of Hyers-Ulam stability of additive functions – a question of priority*, Aequationes Math., **75**, 3 (2008), 289–296.
- [11] A. TARSKI, *Problem no. 83*, Parametr **1** (1930), No. 6, 231; Solution: Młody Matematyk **1** (1931), No. 1, 90 (in Polish).

(Received September 3, 2008)

Włodzimierz Fechner
Institute of Mathematics, Silesian University
Bankowa 14
40-007 Katowice
Poland
e-mail: fechner@math.us.edu.pl